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Math 20
Name:
OK, so I stuffed question 1 up a bit here. There was a typo in the version you did in class, which made my
,hints, a little bit, well, compietely wrong. Here's the (easier) question I wanted you to do, and then how to

do the (harder) question that you actually got in class. Sorry!
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Directions: Calculators are allowed, but you shouldn't need to use your calculator! Show all your working, neatly!
Use the back of the page if you run out of space'

l. (5 martcs) Find the area between the curves .r : 0, x :3, ! :2e3x and y - "3" 
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3. (5 marks) Find ! xtfi+tdx.
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